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You need to be able to work with algebraic expressions confidently for all of your AS maths topics.
Make sure you know how to use these six index laws.
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Given that = can be written 1n the form
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10x" — Sx¥, write down the value of p and the
value of ¢. (2 marks)
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You will be allowed to use your calculator
in both of your AS exams, but be careful.
It you enter 125735 into your calculator

it will give you the answer % or 0.2. You
need to be able to write it in the form
given in the question.

Check that your answer i5 in the cerrect
form. nis an integer <0 it is a positive or WAy

negative whole number. or ©.
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I Simplily x4x)
2 Simplify (9'9)?

Answer (2 marks)
Answer (2 marks)

There are full worked solutions to all the
Now try this questions on page 96.
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Do these =32 -
calculations one 32 o)
stegat a time.

The fraction acts iike a bracket, so

you need to divide both terms in

the numerator by vx. Write down the
values of p and g when you've finished.

—
——

P

| Convert all roots into fractional powers
before applying the other index laws.
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Vx = x2 Ux = x3
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Express 12573 in the form 5" where # is

an integer. (1 mark)
1255 = (53)-3
- 533((—'3
=51
Son=—
S+ 2Vx
3. Write —— in the form 5x” + 2v?, where
o2
p and ¢ are constants. Q (2 marks)
Answer

Remember that a constant *
doesn’t have to be an integer
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